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Chapter 1 and 2 Assignment 
Name:_______________ 

Block:_______ 

1. Sketch the graph of the indicated transformation for each function. 
 

(a)   y = -3f(x + 1) – 3        (b)   y = -f(x + 2) + 1    
 
 
 
 
 
 
 
 
 
 
 
 
 
  

(c)  𝑦 = 𝑓(−𝑥 − 2)     (d)  y = ଵ
ଶ
f(2(x – 3)) + 4 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2. Given the equation 𝑓(𝑥) = 𝑥ଶ + 5𝑥 − 6, find the zeros of: 
 

(a)  𝑓(ଵ
ଶ
𝑥)    (b)  3𝑓(2𝑥)   (c)  -f(x) 
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g(x) 
g(x) 

f(x) 

3. Determine an equation for 𝑔(𝑥) of the form  𝑦 − 𝑘 = 𝑎𝑓(𝑏(𝑥 − ℎ)) given the graphs of 
𝑦 = 𝑓(𝑥) and the transformed function 𝑦 = 𝑔(𝑥).  𝑓(𝑥) is old and 𝑔(𝑥) is new. 

 
(a)           (b)  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4. If (4, -3) is a point on the graph of y =f(x), what must be the coordinates of the point 
after the graph undergoes the transformation        
 
(a)  y = f(2x + 10)    (b)  𝑦 − 2 = 2𝑓(−𝑥 − 3) 

 
 
 
 
5. For each function, write an equation of a radical function of the form ( ) .  y a b x h k  

a)          b)  
 
 
 
 
 
 
 

 
 
 

f(x) 
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6. Sketch the graph of each function using transformations. 

a) 2 4 5y x           b) 3 6y x    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
c) 0.5 1y x           d) 𝑦 + 4 = ඥ2(𝑥 + 3) 
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7.Solve each equation graphically. 

a) √𝑥 + 3 = 3𝑥 − 1     b) −√𝑥 + 1 =
ଵ

ସ
𝑥 + 3 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 

c) ඥ−(𝑥 − 3) =
ଵ

ଶ
𝑥 + 6     d) 𝑥ଶ − 4 = √𝑥 + 1 + 3 
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8. Write a single equation for a radical function for each of the following with the given domain 
and range.   (1 mark each) 
 

(a) D:  }3/{  xxx     

R:  },5/{  yyy  
 
 
 
(b) D:  },9/{  xxx     

R:  },7/{  yyy  
 
 
 
 
 
 
 

9. The point (4, 10) is on the graph of the function ( ) 3( 1) 4.  f x k x  What is the value of k? 

 

 

 

 

 

 

 

 

 

10.  Find the inverse of the functions 

a) 𝑓(𝑥) = ଶ

ଷ
𝑥 + 5   b)  𝑓(𝑥) = ଷ

௫ାହ
   c)  𝑓(𝑥) = ௫

௫ିଶ
 

 

 
 

 

 

 

 


